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T 8,000
¥ 8,900

i

T T # 40 frex qu @ | il A 4 e qu P

T IEH I 4 fr e s R | T @ S
A 7R 3 R T | e wdw A R qu @ T ?

28 forex

29-16 ferex
26-34 forex
27-36 &

I 7 3 =T

(1)
(2)
3)
(4)
(5)

A BR 30% it Fv@ ¥ | A T W FW FA
o @mﬁwm&iMWﬁ,mﬁaA

m“ﬂ'ﬁﬂa23ﬁqﬁwﬂmt?

@ 05 %
15951_
uf=
13

3T T 31 =TE

(2) :
@)
(4)

(5)

1.

A, B and C invested T 80,000, ¥ 40,000 and
Z 80,000 respectively in a business- A left after
six months. If total profit after eight months 18
¥ 40,050, then what is the share of B in the

profit ?
(1) % 5,000
(2) 9,000
(3) % 8,000
@

(5)

Z 8,900

Not attempted

A container contains 40 litres of milk. From this
container 4 litres of milk was taken out and
replaced by 4 litres of water: This process was
repeated further two times. How much milk is

left in the container ?
(1) 28 litres
(2) 29:16 litres
(3) 26-34 litres
(4)

(5)

27-36 litres

Not attempted

A is 30% more efficient than B. How much time

will they, working together, take to complete a
job which A alone could have done in 23 days ?

20 3 days

1
(1) 17

(2) 15 days

(3) 11days
(4) 13 days.

(5) Not attempted
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Tqrefy ix bells commep . 'ther and toll at
49T, 6397, 8 drewg. 10;:“: ::T :22 e ?:tervafi of 2, : :?":jg :;geand 12 f’e""“:z
T X TR K| 30 3y, m&m “ respectively. In 30 mipyeq how many times
Rt a0 v T Hig these 8iX bells to]] together 2
1) 15 m 16
2 16 (2 16
3 4 3 4
4 10 4 10
(5)  Iw & e (6) Not attempteq
St s > y)is 161.
sy ol x 3 y x> Y) ¥ LCM, 161 % | > L;fvjufzﬁz:lf:f?emmu ’
(33-!!)331““%: Ay i
1) 1 @2 2
@ 2 -
® -2 @ -1
-1 (5) Not attempted
(5) I 7 ¥ wmy
6. Ifm=-4 and N =-2, then the value of
MR m=—g oy n=-2 § & m3—3m2+3m+3n+3n2+n3is:
m3—3m2+3m+3n+3n2+n3$‘lqﬁﬁ"n (1) -126
(1) -126 (2) -128
(2) -128 3 -120
3) -120 4 -124
4 -124 (5) Not attempted
(6) 3wt 7 =Ry
I 02689, then K.
5_—%5 = 02689 &, @ 000;3718 TR g P 00003718
(1) 26890 (1) 26890
(2) 0-2689 (2) 02689
(3). 2689 (3) 2689
(4) 2-689 (4) 2.689
(6) I 8 T wmxa (5)  Not attempteq
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£

- . B- %e Pl'ln i . ars
. A —-% d interes
¥ . ] g' 4 pE!' annum mmpoun
‘R. Wﬁi LIE mﬁﬂi t’ ¥ 4'913 L aﬁﬂ Compound d '
€d annually ig
¢ (1) 74,085
(2) T 4,096 3) = 3,006
(3) ¥ 3,096 4 74076
4 T 4,076%;[ . LR
JN ' ;
o w 9. A sum was invested at simple interest at a
9. T gafyr &t et s sy AW 3a€ ¥ fere certain rate for 3 years. Had it been invested at
fraw e T | AR w3 @ R 1% higher rate of simple interest for the same
1% s |UR0 S 6 W W e fwa Wﬁﬂ,‘iﬂ ¥ time,- it would have fetched ¥ 5,100 more. The
78w T 5,100 A ifa wedt | g8 R R sum is :
(1) % 1,50,000 - (1) ¥ 1,650,000
(2) ¥ 1,70,000 (2) %1,70,000
(3) T 1,20,000 3) ¥1,20,000
(4) ¥1,25,000 (4) ¥ 1,25,000
(5) IaT 7€ A 9TEd (5) Not attempted
' . & i ight-angled triangle
10. @mﬁ?ﬁﬁﬂmﬁm,@ﬂﬂmﬁ 10. '.I'heh'angt.hofonemdeofangh aqu S
: . is twice the length of the other side an
WﬁﬂQﬁ%HﬂTﬁﬂfiﬁmﬂmﬂd’rg!ﬁgﬁﬂ length of hypotenuse is 10 cm. The area of the
ot ' triangleis : |
(1) 40 & Fnft A e
: ) o a‘ﬂ (2) 50cm?
@ 20t @h % i
1
(4) 33§a1fﬁrﬂ @ 33%0 2.
5) I AE & =Ed |
( PR (5) Not attempted
3:
1. el {ﬂ aﬁm;{'&m AW“B@ ¥ fam ;ZT 11. In covering a certain distance, the speeds of A
! tﬁmlA HFT trgairﬁ and B are in the ratio 3 : 4. A takes 30 minutes
30 e T AL TR A o more than B to reach the destination. The time
R taken by A to reach the destination is :
1) 2% (1) 2 hours
(2) 2‘21' w2 (2) 2% hours
3 19a (3) Thour
(4) 1% % (4) 1-:13 hours
(5) I A ¥ = (5) Not attempted
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The ratio of milk to water in 80 li

tres of 2

s &

12. ﬁsoﬁ;{ﬁ qﬁmmmm?ﬁ%'ﬁ' lni,.dn.u'-eis‘i':3.Tl-newater(inlii;res)'i"l:"’"dd‘ed
w -(mﬁ)mmﬁHQﬁm :+ to make the ratio fmjlktowaterz:lis
ﬁ@aﬂtmﬂﬂw_z:lém? to 1t ¢

' 1 6
(1 6 g
@ 8 @ ;
@ 4 )
b
@ 5 “)
Not attempted
5) T T 2 T (5) ot attemp!

13. T ARAER TR F o f Rl 4 B wmgn w 18. The dimensions of a rectangular floor of a room
4:3% I T4 WA ®2:1% 9 # when increased by 4 metres become in the ratio
Bl & | R F e e w2 4:3andwhendecreasedby4metresbecome_in
(1) 187 x 227, the ratio 2:1. What are the dimensions of the

fl f the room ?
2 187 x 24, ocfr -
' (1) 18mx22m
(3) - 124, x 8. @ 18mx24m
4) 167 x 127, @) 12mx8m
(5) IR E TR | .4) 16mx12m
(5) Not attempted
14. 3R J2 =14142%, @ "E"l R R : :
V2 +1 =t
14, If /2 =14142, then J+1 is equal to
1) 04142 | i
, (2) 03652 ey 04142
(3) 0732 (2) 03652
(4) 1-3142 (3) 0-732

_ (5) Not attempted

15. aR a, b, cH Ga MaM ab+ bc +ca =08, @ '
a2, b2, c2 %1 3ftea ? ' 15. If the average of a, b, ¢ is M and ab + bc + ca =0,

3 then the average of a2, b2, ¢ is
(1) 6M .
@ oM* .
2 (2) 9M
3 M .
g 3 M
(4 38M 3
4) 3M
¢ (5) IR AE & Aw
e : (5) Not attempted
el L % W & féT TT / SPACE FOR ROUGH WORK
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(@) 7€ T T F TR ) gy @ |
b e T FE vy e e |

© T B T Tl g i

sfufreh TR & gue R o wwn |
#3 R g2 ¥ A T fwew w1 o Hife
(b) T (¢)
%ad (a)
(a) 71 (b)
(4) (a)TW™(c)

(5) IR TE A e

17. Fefofed # & FH-TR s werd e
! & faw & wd % 2
(a) FicTes U fawwift fysor @ |

(1
(2)
(3)

(b) V¥ Fiige F WA B a1 W ¥ 7w few
F1 76 W A3 & rufq Freiss swarh w # |
(¢) ﬁﬁﬁsmﬁﬁﬂﬁﬁamﬁﬁmaﬁ

mﬂﬁﬁﬁnﬁ-ﬁmﬁaaﬁm@*ﬁw
6.

*

17.

(e)

about compounds 7

(@) It shows the pro

Pertieg of .
substances, of the constituent

(b)  The composition 0

f each new s b, i
always fixed. Wtance gy

(b) and (c)
Only (a) .
(a) and (b)
(a) and (c)
Not attempted

Which of the following statements is/are correct

about the properties of a Colloidal Solution ?

(a) A colloidis a heterogeneous mixture,

(b) The solute particles settle down whep
colloids are left undisturbed, hence, colloids
are unstable.

Colloids are big enough to scatter a beam of

mmiwmmﬁqﬁqwmg| lightpassingthroughitandmakeitspa
' visible. i :
:ﬁ%ﬁqﬂﬁ?ﬁﬁﬂﬂﬁmﬂww: Choose the correct option from the codes given
1) GmE - Ny s -
2) %9 (a) (1) (b)and(c) &
3) ()@ (b) 2) Only (a)
(4) (a)@¥m(c) (3) (a)and (b)
(5) I TE 2 =R (4) (a)and(c)
- : : (6) Not attempted
18. 683 UYH fhen qreml ¥ Fren frem avit F fag :
PHS 18. ich film won the ‘Best Film on Social Issues’
i P R s o’ ik e ‘::vuard in the 68" National Film Awards under
e the feature films category ?
(1) i (frfém a1 omyw) (%) (1) Taledanda (Beheading a Life) (Kannada)
@) T (9) () (2) Natyam (Dance) (Telugu)
(3) wden (afd) (3) Mandela (Tamil)
@) wFa (wdh) (4) Funeral (Marathi)
(5) | I 7 3 =R (6) Not attgmpted
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Joped by
; ¢Demographic 'I&'ansition:, ac oncept deVB pe

‘bed the
i T, U aun R e e 3|19 grank Notestein in 1945, descnbent and
* 19458 fafa Fen u, s fyem awm relmjonsl'lip between economic dev‘?hpme
3 ol 1 STET FA R | I
(1) wEm # S A wft (1) Loss o_f lives in epidemics
2) FMEH Htand @ Cartographic boundaries
(3) WIS AT T (3) Social crime rate
(4) TN T YY R 4) Death and Birth rate
ted
(5), I T T TwY (5) Not attemp
20. Fwee Refiiew § & AR spisdhew @ hom 20. Which among the following will not be ordinarily
TEF W S R 2 considered an outcome of globalization ?
(1) woay faesh fRy (1) Foreign Direct Investment
(2) wEYEY IR TR (2) Multilateral trade agreements
3  eafdn (3) Outsourcing
4) Tariff barri
4) T g (4 Tariffharries
(5) Not attempted
() I T 3 W=
: . i llowing industries has the
2L BIFR ¥ vard 8w § P 21. Which of the fo
i S F A maximum concentration in the Chhotanagpur
) . Plateau region ?
i e (1) Fertilizer Industry
x idaala \g'/ (2)  Automobile Industry
@) ¥ 3 (3) Sugar Industry
(4) o sk o9 Iam (4)  Iron and Steel Industry
(5) 3 T 21 W (5) Not attempted
2. &I 9 Tn 1 Fr v 5y Ty R 20|22 Nataraja is g bronze sculpture in g dancing
(D) wreft Position associateq with
2 % (1)  Kali
3 (2)  Nandj
4) firg @) Krishna
(4)  Shj
(5) I ff 2y S 5 hiva
MAR Not atte
MARA/C2/Page 7 mpted
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23. When ;
. i .
Eﬂﬂﬂ @i T e ATl i ? . ralsed ?3 the bullt‘ll] exCeption Import Emr
g, ¥ Mm@ﬁaﬁ@?a‘mﬁi"g '
w ™ (D) 1t is raiseq "
e al o Wwhen a Joca] or global variable
am T WEE ST A dm @ T AMe 18 not defineq,
oLl N
@) 3 | (2) II:;ls l‘alBEl.ﬂ when the index or subscript in a
) & @ T A A e A A T | quence is out of range,
3 : : ;
:4) ga @R () T fet Wt g1 Y wg fae FEA @) (I: ﬁl; raised when the requested module
" efinition i
3 3 (wwe 3ATH wrge) e wds et & i - 0118 not found,
/ tis raised when the end of file condition is
(5) IR A & e reached without reading any data by
| input (). '
os, Preffed # ¥ PR T TEWE Raame free (5) Not attempted
(@A) 7 R?
(1) WmMDB 24. Which of the following is mot a Database
() IR T Mgnagement System (DBMS) ?
: 1
(3) WESQL D Mg
(2) Microsoft Excel
W sk (3) MySQL
(5) I AE M T (4) Oracle
(5) Not attempted
%.Wiﬁﬁ:ﬂ_ﬁﬁﬂﬁﬂﬂﬁﬁﬁﬁg@ﬁm .
ITH T FH S W I qarR? 25. What is the name of the Hetworkins Topology
(1) ¥ A9 where each communicating device is connected to
- vt a central node 7
R, (1) Mesh Topology
(3) ww derieh (2) Star Topology
(4) for ZurEsh " (8) Bus Topology
(5) IR TE M 9Ed (4) Ring Topology
(56) Not attempted
26. e 3 3 P o el ) 1 ST 7 .
29 26. Which of the following is not an example of
- ﬁ'lﬁﬂ -~ secondary memory ?
W (1) Memory Card
" fts s (2) Read only memory
@ o g (WA (3) Hard Disk Drive (HDD)
@4) @& W (4) CDROM
(5) I TE & A (5) Not attempted
MARA/C2/Page 8 T @14 % {70 T | SPACE FOR ROUGH WORK
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; ; o 19T - Y Lousvs
gfaa™ Age9T 395, A WlAUH 1 HfeH 7 ) fpe fial A26). Wrticle of thewhich of the

o ¥
g NS 7 o i | e (18 VR el 4

i A
qaa ¢ foﬂoﬂlng '

(p e S S, 2019 ) Citizenship Amendment Act, 2019

g TEN TSR ) Tormation of New States

) i T S, 1947 1 fie " g Repeal of the Indien Independence A
(&) I S | 1947 .

(5) SW 78 & =Tl 4) Proclamation of Emergency

(5) Not attempted
%%mmﬂmﬁuﬂwqwm

a famous Speef?h-

= miﬁﬁwﬂmm%ﬁqﬁf@aﬁa g8, ‘A tryst with destiny’, 18
FameaAfm @ ? . _ {llustrative of India’s independence made by
1) wad. gEd which of the following members of the
@ @I W | ' Constitqent Assembly of India ?
3) 3w, e ‘ (1) S.P. Mukherjee
@) W AT : (@ Vd.Patel
(5) A X AR (3) J.L.Nehru
* : (4 BR Ambedkar
29. mmﬁaﬁwwq@qmm% (5) Not attempted
i : 99. The study of writings engraved on hard surfaces
G, "SRR | such as stone or metal is called
v: ] JPER - " 4 (1) Iconography
@ T (2) TypOgr.aphy
@ W (3) Calligraphy
(5) I T & X : (4) Epigraphy
(5) Not attempted
30, ‘WG ST A R :
(1) wag@Is ® AED T ¥ ey fafeA 30. ‘Matdata Junction’ refers to :
S g W e spaen | (1) radio series produced by Election

Commission of India for voter awareness.

(2) name of a new railway station to raise voter

() Tl ® aEs e % R e T e
REHIH
@) feeam wagmna & foe few g9 awareness.
' (3) special polling booth for Divyang voters.

@) tUrea ¥ F dwed g AfvwiEl & o _
ofreror HRIsA (4) training programme for officials to handle
postal ballot.

(5) I T &1 9TEd
; (6) Not attempted

Downloaded from www.cclchapter.com



32.

faem w1 R @ Prafofas a3 & g T
giee |

(1) I S, 3 g ooy #
@ - a !

(3) | T8 T AR B Tl § g 1 G4 |

@) gmmi%nmﬁgmw
| .

(5) I & 2 TR

‘Wit g w1, araf Iaig w4,

et T iy i, sheoy Fam R 7

Iw T e AR w1 REw R ?

SN ¢/
(2) wifeum :

3) ¥y

(4) &

() T A TN ="

fau e form weg & vl oM g R 2
(1) &/
(2) "X
(3) =R

(4) ®ER

(5) IeR I & @S

37.

(2)

@)

(4)
(5)

35. Wﬁ;ﬁﬂ% : W’fﬂ%
1y

It

i

ery
W
IR 7 &1

T 2 3 forg walfes o I R

(1)
(2)
(3)
(4)
(5)

o forg vda & 1D & Feperan @
v & g A 4y
e A ¢ & 5

T & W T W
ERECROR

‘qerey’ wwEd 93 @ fag g — “qedi § I |
I JUTE § AgEY HHH HI BHHT THW 2 ?

(D)

2)
(3)
4)
(5)

HIEH I
ERCURGE
= T
TR ey
I AL & AR

Tt f 7R & g &, & 99 Hife |

(1
(2)
3)
4)

(6)

fafr
e
sl

TJouyfae
IR T 2N <

MARA/C2/Page 10
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ﬁﬂﬁmﬁﬁﬁﬂq.m o IR
89. ki T TR - Sk #9| 4. Wﬂﬂﬂﬁ*mﬁ?ﬁﬂﬁﬁm'
(1) T ——
() wHATEC
3) faae @ T
- (4) TagEE 3 @
(5) IR & =R -
 40. frefafiga # ¥ fora SfRe =1 wrard gema 77 2 (5) I A <

(1) e wE FE " = fraw

@ wedt Tm A wW G = o wH W wE

FA | _
gatfeeh
@) <M A AR F o = AR g A WA 4 ﬁqmm%ﬁmﬁmﬁmﬁiﬂ
| = M- foafar & v
(4)) 111*1:@%% | @ FegEiwh@
5

' (@ i @ E
| 41. mm%mmﬁﬁﬁ-:ﬁﬁﬁam

e 7t T R 2 (@ PETddamwERE?
&l

) fatgEEs 5 o @) AR F I AR R
R I (5) < AE & A

(3) wANH

(4) SRoTEEYS

(5) I AEl & =Ed

45. ﬁéﬁ«ﬁﬁ_ﬁﬂaﬁmmﬁﬁxm@m?ﬁi?

: (1) uafgEf
(': :H : | (2) e &Y
@ | @3 &duf
(3) @I | - _ w e
((:j jﬂ":?ﬁ’"a@ | (5) I ¥ AR
MARA/C2/Page 11 % T % foTu T | SPACE FOR ROUGH WORK
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46. Rearrange the following parts ot a sentence
labelled as PQRS to make a meaningful
sentence. ' '

P. leave no regret are

Q. gained over ignorance

R. the only victories which
S. those which are

(1) PQSR

(2) QRSP

(3) SRQP

(4) RPSQ

(5) Not attempted

Choose the alternative which best expresses the
given sentence in Active Voice.

47.

Kead the following passage carefully and ansy,,
questions 49, 50 and 51.

Tiger is one of the key wildlife species in the faun
web. In 1973, the authorities realised that the tige,
population had dwindled very fast. The major threaty
to tiger population are numerous such as poaching fo,
trade, shrinking habitat, depletlon of prey base specieg
etc. The trade of tlger skins and the use of their bones
in traditional medicines left the tiger pOPlllﬂtlon on the
verge of extinction. Since India and Nepal provide
habitat to about two-thirds of the surviving tiger
population in the world, these two nations became
prime targets for poaching and illegal trading. “Project
Tiger”, one of the well-publicised wildlife campaigns in
the world, was launched in 1973. In India, Tiger
conservation has been viewed not only as an effort to

|save the endangered species but also as a means of

preserving biotype of sizeable magnitude.

.
¥

Downloaded from www.

It is being read by us.
(1) We can read it. 49. Find out a word from the above passage which is
(2) We have to read it. the antanym of legal"
@ W ding it ol
el L (2) threat
(4) It will be read by us. (3) - extinction
(5) Not attempted (4) faunal
: (5) Not attempted -

48. Read the sentence to find out whether there is| 59, The skin and bones of tiger are also used
any grammatical mistake in it. A : '
Mark the number of the part with error as your (1) to save tiger from extinction
answer. If there is ‘no error’ mark (4). (2) in preparation of food products

- _ (3) asraw material in small factories
The scientist was seemed to be excited (4) _ i tradifional medicines
A . B (5) Not attempted -
_ over the result of his experiment. ,
c 51. The major threat to tiger populations is
(1) B (1) Poaching for trade
2 A (2) Industrialization
3) C (3) Lack of Tiger Reserves
(4) No error (4) No Government policy
(5). Not attempted (5) Not attempted
MARA/C2/Page 12 1% %14 & {70 T / SPACE FOR ROUGH WORK
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e
' resﬂ.es th
i : Choose the alternative which bes® A
52 Which of the phrases given below should replace 56- meaning of the underlined idio™- . dent
, the phxase'“ndethEd in the following sentence He had a hair-breadth escape from the accl
. omakeit grammatically correct ? @ f ghting
,[ «She ghowed courage in advocating policies which (2 impractical
: were not common acceptability then.” @) very safe
(1) common in acceptability than (4) narrow
() commonly acceptable then (5) Not attempted
@) commonly accepted then '
() “haN RO AcopRay g7, Life history of a man written by himself 8 i
(5) Not attempted ' NI ‘
, 1) Calligraphy
3. Choose the most appropriate preposition to fill in @ Bibliography
VlSltDl'S in the ga.rden are p“’hlb“ed (4) Autobiography
& :
s (5) Not attempted
(1) for -
(2) to _ 53. Select the word mt is most gimilar in meaning
(3) from to the given word.
(4) with Prosaic
(5) Not attempted :
| (1) Cunning
54. Which one is the correct indirect narration of the | @) Patrioti.c-
following sentence ? (3) Uninspiring
He said, “Two and three is five’ (4); Poetic
(1) He said that two and three was five. (5) Not attempted
" (2) He said that two and three were five. P 3
(3) He said that two and three are five. 59. Find qut‘. the correctly spelt word.
(4) He said that two and three is five. (1) thesaurus
(5) Not attempted (2) thesoraus
(3) thasaurus
55. Fill in the blank with the most appropriate | (4) thisaurus
option given below. (5) Not attempted
He was advised _ the seminar without _ :
iesparailon. 60. Find out the correctly spelt word.
(1) not to attended (1) prettentiousness "
(2) to not to attend (2) pretantiosness
(3) not to attend (3) pretantiousness
(4)  to not attend (4) pretentiousness
(5) Not attempted (5) Not attempted
T wY & ﬁ"! ¥ / SPACE FOR ROUGH WORK
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61. When was the State Council of Edllcatiuna

61. wmm # T % swym g qfwg _
Gl " Research and Training established in Haryan,

T e R 7
2 1965 . (2) 1965
3 1979 (3) 1979
@ 1970 (4) 1970
(5) I TE M = (5) Not attempted
‘ : y ap ig situated in  whic
62. whawn ¥ Frw B ‘ot e e’ R B 7 | O j”;“c‘:::‘ﬂfr'fafafm )
(1) IFTHR (1) Yamunanagar
(2) wieETR (2) Faridabad
(3) Uras ' N (3) Rohtak
OB L . (4) Panipat
(5) I T T =R ' (5) Not attempted
63. RamN F T vy FH-AR 2 63. Which is the state animal of Haryana ?
1) ™ (1) Tiger | -
(2) wrE (2) Horse
- (3) =t (3) Elephant
(4) ren few (4) Black Buck
(5) IR AE & TEd (5) Not attempted

64. ‘mﬁ,ﬂ-ﬁm%g@m%mﬂmm 64. Which fort is known as the Gateway of Haryana ?

27 - | (@ KanodFort
(1) ¥ % e (2) Maham Fort
(2) wren F1 e | (3) Gohana Fort
(3) Tirgr 1 fem : | (4) Bahadurgarh Fort
(4) wETGETG ¥ feen ~ (5) Notattempted
(5) Iu e N =
. ; 65. Haryana is located around 300 miles North of the
65. gRamm % @mm 300 Hia 3w A fR@ R .
1) e T (1) Greenwich line
L2 pEwE (2) Equator
(3) & @i _ (3) Tropic of Cancer
(4) W@ ' -~ (4) Tropic of Capricorn
(5) I G &l il'lzﬁ : (5) Not attempted =
MARA/C2/Page 14 % %14 & foT T / SPACE FOR ROUGH WORK
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Rule
€
e Hom!

: credit fo . th
66. Wﬁaﬂmma‘mﬂhmg 66. The - H" Propagaupg'
w mﬁt : Movement In Haryang goes to :
() (1) Ram Kishore

™ e .
i (20 Thakur Ram Singh
(3) el TR o dgs

. 3) Lala Murlidhar

@ 9. ¥ _

A s (4) Pt. Nekiram Sharma
Ll (5) Not attempted
freferfaa & ; Mahal

o R 1 AN W& T AN R ? | g7, Which of the following is known as the Taj M
- (1) Iu R # g of Haryana ?

(2) e g =1 wwa | (1)  Sheikh Chilli’s Tomb
(3) i@ wEd (2) Ibrahim Suri’s Tomb
(4) 9 HEA (3) Sheesh Mahal

(5) IR & 71 <TEd (4) Jal Mahal
' (5) Not attempted
8. Pmfafiga & A g & 0 w9 = Fsagm gewi g

7@ T s 2 68. Which among the following folk.dance forms is
1) = not performed by men ?
(2) <argat | e
@ ® (2) Chaupaiyan
(3) Loor
@ (4) Daph

(5_} b Rl (5) Not attempted

. 69, iEq el e 9 wharn & Fefofes A @ 8 |0 py Lakhmi Chand was born in which of the

e & B3 ? 0|/  following village of Haryana ?
(1) dfiwa i (1) Jantikalan

(2) #é (2) Sihi

(3) =@y (3) Mokhra

(4) 7w . (4) Nahni

(5) I FE ¢ AR ' (5) Not attempted

70. gt ¥ fRm 7 yefoa S g aFET M aring |70 The fort of Asigarh situated in Hansi was built by

& foct ®1 Fwfvr fvw &t o gam 2 . Prithviraj Chauhan in which century ?
(1) 14 g (1) 14" century
(2) 1741 & , (2) 17*h century
(3) - 124 && . (3) 12" century
(4) 1541 & (4) 15" century
__ (5) 3 A & wed (5) Not attempted
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71, e & e T anemen o qa arfr 2 2
(1) w=F
(2) o
(3) UEds

(4) TH™
(5) I E A =TES

31 Rewn, 2017 % 7 famn o gyrw $ 7 BBY
Ao o @ sv R R 2

(1) Wt W FeE

() W e Qe

(3) wwErR . A

(4) el s=neh I

©(5) I A AT

73. whamn & feg ad werw @ @ (DBT) TS H

IYHRY {3 ?
2014
2015
2011
4) 2013

(5) mﬁtﬂ?m?@

74. whamn # iy safes faseh 6 @ua af 2020 - 21 76
wge feeet &1 T 2 2
(1) 1200-45 =
(2) 154045 qf=
(3) 1000 3=
(4) 1805-45qf32
(5) IR TE 1 9TEA

76. &Ramn TsT s ¥ faeflr af 2022 - 23 F g we
%1 foan sfowra g & & =29 & fore i fn
™R ? '

(1) 62%

2 21%

(3) 46%

(4) 43%

(5) 3w ¢ g1 =R

72.

(1)
2)
&)

AMMADAICDIDana 18

71.

72.

73.

74.

75.

()

© (2

Which district in Haryana has the hiahgq

iiteracy rate 7
(1) Panchkula
(2) Kaithal
(3) Rohtak

(4) Gurugram
(5)' Not attempted

What is the full form of BBY schem® !
December 31, 2017 in Haryana °
Bhavantar Bharpayee Yojana
Bharatiya Bima Yojana

Bagwani Bima Yojana

Bijali Bachao Yojana

Not attempted

aunched o,

(1
(2)
(3)
(4)
(5)

In which year was the Direct Benefit Transfe;

(DBT) Scheme launched in Haryana ?
(1) 2014

(2) 2015

(3) 2011,

4) 2013

(5) Not attempted

What is the increased per capita consumption of
electricity in the year 2020 — 21 in Haryana ?

(1) 1200-45 units

(2) 1540-45 units

(3) 1000 units

(4) 1805-45 units

Not attempted

What is the percentage of total expenditur
allocated towards Police in Haryana Stat
Budget for the financial year 2022 — 237 .

(1) 62%

21%

46%

4-3%

Not attempted

(3)
4)
(5)

-re h:_.l__-:\-—--‘———
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76, & F1 I TR ooy

—~
o)
—

i
£

76.

1.

- 78-

79.

Shori. Bazar iy Rohtak js Haryana's largest
market

(1)  Auto Spare pay

(2) Wood

(3) Cloth,
(4) Grain
(6) Not attempteq

Who is the firgt Wrestler to win a Gold Medal in
Commonwealth Games in 1958 2

(1) Master Chandgi Ram
(2) Lila Ram Sangwan
(3) Sajjan Singh

(4) Pahalwap Udaychand
(5) Not attempted

Which of the- followi
Haryana received the Padma
field of Science and Engin
(1) . Moti La] Madan

(2) Raghuvendra Tanwar
()  Sumit Antjl

4)  Om Prakash Gandhi

personalities from
Shri in 2022 in the
eering ?

() Not attempted

Rani Lakshmj Bai Awarq in Haryana is awarded -
in which areg ? _ :

(1)  Science

(2)  Social Work

(3) Literature

4)  Sports

Not attempteqd -

(5)
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T

. 5[ oMoz
8l 1913 # T 3 Jmamery 3 ey mmtﬂ" Jﬁmbv“.’ e first Indian to be appointed as th,
it g@q rst Chief Justice of the b High Co
& Frge T R A g o 1913 7 e e
(1 e fére (1)  Gopal Singh
@) Nﬁﬁ—q;ﬁ‘rg (2)  Alok Singh
@3) WO (3)  Sir Chhotu Ram
@ . w9 fiw (4) Dr. Sarup Sin_gh
5) I 78 2 =T (6) Not attempted
82. When was the first Haryana State Fin
82. mm%qﬁﬁﬂmmmaﬁ!”? Commission formed ? B
(1) 2638, 1994 (1) 26 April, 1994
(2) 15 AR, 1994 (2) 15 October, 1994
3) 23!::; 1994 (3) 2" June, 1994
4) 3817, 1994
(4) (4) 31% May, 1994
(5) IR AR &1 <R

(5) Not attempted
83. @-*-“Mﬁw_mwamm " 5|88. M.XK. Gandhi was arrested on which date from

WW’“aﬁzmwmﬁmmd Palwal railway station while going to Punjab to
g7 . protest against the Rowlatt Act ?
(1) - 10 3%, 1919 | ' (1) 10% April, 1919
(2) 10334, 1918 : ' (2) 10% April, 1918
@ 10389, 1915 ' 3) 10t April, 1915
ol il | (4) 10 April, 1917
(5) IO Tl ¢ =R ‘
- g (5) Not attempted
84. =i % fore wEgg F1 WA T F R ?
84. What is the ancient name of district
(1) wHE . .
TR - Mahendragarh in Haryana ?
- R : ' (1) - Kanoud
%) (2) Satyevpuram
4) s | oy
® T by et
: ~ (4) Sairishaka
os. e ) et s & o i § 7 | 0 Nesatmnpinl
St & ? 85. The Shivalik Hills are not found in which district
(1) IR of Haryana ?
2) fman ' (1) Yamunanagar
(3) vEHAl (2) Sirsa
(4) e : (3) Panchkula
(5) I A & e (4) Ambala
R T (5) Not attempted " i
MARA/C2/Page 18 WY %
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T T e

4
zﬁlﬁqfﬁiﬂ'ﬁ%m
& freem/fFe § | %mﬁ““ﬁ‘lwm
Rl & S
Wm%il
Ay (1) B ¥ -
(I1) %%‘%‘ég|
D W 3 o
(1) Qﬁamﬁmmth‘(tl

2) *aalmtmﬁmt
®) ¥ 130 11 Frerery
@) % 11 Pravera &
B) I T 3 =y

87. Wufmm & oy TR R o

(1) x

(2) -

3) +

(4) = )
(6) I adf 1 ==

88. P.QR,S, TReR& mm | P Qa @ fig Q@
PR @ Rem@meRPamd,

87.

Some apples are grapes,
All grapes are bananas,
Some plums are grapes.
Conelugiong - (D
(Im
(I11)
(1) Only I11 follows
(2 Only I and 111 fop1ony
3) Onlyr and II fo]low
(4) Only 11 followsg
(6) Not attempted

Some bananas are plums.

Some apples are bananas,
All bananas are grapes..

‘What is the valua of ‘@’ in this pattern 2

XaL=9
PaH=2
LaF=29

1 x

2 -

@) +

4 =+

(5) Not attempted

P, Q; R, S, T went on a picnic. ‘P’ is the son of ‘Q’.
But ‘Q’ is not the father of ‘P’ ‘R’ is the son of ‘S’,

T W TNE | Wwho is the brother of ‘P, “T” is the wife of ‘S’.
PHF RAFM @R ? How is ‘P’ related to ‘R’ ?
(1) =r=n (1) Uncle
2 R (2) Father
(3) wdien (8) Nephew
(4) (4)  Brother
(5) o 7€ & =TEd (5) Not attempted
MARA/C2/Page 19
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R —

o T T § XYZA ® 1234 3it EFGH ®

. felt .
- ¥ wa & for@n @ R, A s g2 v A

78910

(1)
(2)
(8)
(4)
(5)

i wxt s, e it swe o e d
wa faw fen @ afen 3 wdfter g & w i =
%ﬁmmhﬁmﬁmmﬁnﬁuﬁm%ﬁml
2R = 360 ¥ fre ®1 Y fean T @, w3

89.

90.

r‘itten as

e
In a certain code language XY2" ” GE writte?
1234 and EFGH as 78910. How *°
in that code language ?
(1) 4917
(2) 4217
(3) 4197
(4) 4179
(5) Not attempted e went
Three friends Amita, Babita ﬂJ’d received,
to a restaurant. When the e pai d and
Agita paid > ‘as much 85 Ba
P 4. 1f th
g 3 Chanchal P2
Babita paid 3 as much as Jant sk

# 360, then what is the

et TSt &1 A R 2 2 bill paid is
(1') z 200 by Babita ?
(1) T 200
2 60 (2 %60
(3) 180 & S8
(4 T 100 5. 00
(5) I & ed (5) Not attempted
o1, 3 Ry My Wz & auil 1 A Fk T T N FF |91, Find out the word which cannot be formed by
St weg 1 TG HIfT using the letters of the given word :
VERIFIED VERIFIED
(1) FRIED (1) FRIED
@) FRIEND (2) FRIEND
(3 DEFER (3) DEFER
(4) . DRIVE (4) DRIVE
(5) 'we T & =mEd (5) Not attempted
92. fedt ws $2 w1 # DFGHJ 1 FHIJL % %9 #|92. In a certain code language DFGHJ is written as
ﬁmmtlzmgmﬁmnnahﬁmm FHIJL. How is AUDIT written in that code
foran e ? language ?
(1) CWFIU (1) CWFIU
(2) CWPJV (2) CWPJV
(3) CWEJV (3) CWEJV
(4) CWFKV (4) - CWFKV
(5) e TE 0 wER (5) Not attempted
'MARA/C2/Page 20 1% T % forg T / SPACE FOR ROUGH WORK i T
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e fie 'm:; ::: e forerds srgew vl (98, Select the combination of numbers 0 ';::1 th:
I L g AL e T A GTH letters arranged accordingly wil
- O g M meaningful word :
® 8,46215 = ° © I
(2) 6,4,3,2,5 1
(3 3,4,5,6,2 1
4 6,4,3,1,2 5

(5) m?ﬁhm

L B O E M
1 2 3 4 5 6

(1) 3,4,6,2,1,5
(2) 6,4,3,2,5,1
(3) 3,4,5,6,2,1
4) 6,4,3,1,2,5

_ (6) Not attempted
94. ﬁnﬁf@aﬁ%ﬁﬂnaﬁqﬂ‘%?
1) = wemmr : 94. Find the odd one out.
(2) " "R (1) Indian Ocean
(3) == ) T (2) Arabian Sea
@) ~.(3) Bay of Bengal
) Ter € . (4) Pacific Ocean

(5) Not attempted °

W W Rreves o1 v i, Rt oz 3 s & |96

Choose the correct option in which the words are
related in the same way as in the given pair of

TS : TEheA words : )
(1) war - o3 w=5mn Singer : Chorus
ist — Paint
(2) @ o (1) Artist s}nn
- . (3) Flowers — Bouquet
(4) w@ftas - T :

:  (4) Musicians — Song
&) Fw (5) Not attempted

96. 0 wf fawew w1 ww Hifwe W A fu 7w F wow | 98-

Choose the correct option, which is related as
given :
ﬁ: I - 11:120::25:?
_ 11:120::25:? i i%k
el | @) 624
(2) 624 ] oo G50
W . "l 4 125
il ' ' (5) Not attempted
npte
(5) 3w A&l &A1 <Ed B
RA/C2/Page 21 % & & f&rq TUTH /| SPACE FOR ROUGH WORK
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A B,C,D,E¥RF

. = S 'gh "A G )
97. R S S g # A uleﬁ'{:’ D,'E and F are sitting i a circle facing
I B P ol 3 3 2 ?e?i.;re' D" is on the immediate right of ‘B’
3l B, T H ﬁ%‘(_w 'qm ELi % e ‘A' . D and B’ is not the immediate nejghbour of ‘F'. \¢
sdutat PHEhwng, s between ‘A" and ‘D', Who are the neighbours o
(1) AanE () AandB
@ C3MD 2 CandD
(3 B3 D (3 BandD
(4) AINE (4) AandE
(5) I A 2 9T (5) Not attempted
98. INTH T FHUR T fau o gftym =1 99 9% T |98.  All the hard work done by you at your W“"kpl'ace
wearl, S I rsw fm o : aq ol am is hijacked by one of your colleagues; who is a
1 S ? good friend of yours. You will :
(1) ufem w0 Sl @, it qﬁﬂ'ﬂ. 1 it (1) continue hard work as hard work always
Hed AWV RAT R | . pays. -
(2) > ) =Y WG FQ T | (2) start praising about your work yourseil.
| (3). leave the job.
(3) dA=sig N ,
(4) criticise him in front of other colleagues.
wEAfEl & e e H1 |
E:; :;l & aﬁ;ﬂtﬁ (5) Not attempted .
: 99. Find the value of p in the series :
99. 3@ J@en ¥ p FH HH 7 HfC : 1 lp'l_ g
2z oo '3 9™ 81’ 243
3 9 81 243 1
1 Q) =
i 29
(1) 59 . ;
1 (2 —
2) — 39
39
1 @ o=
(3) 27 27
1
4 oo
(4) 2—11— l 21
100. 2 R m fEel § ¥ g9 FE & 9% fifyg | 100. Choose the missing number from the given
fRored dea FEe 50 8 w6 options that will complete the number series :
55, 56, 58, 61,65, _ 55, 56, 58, 61, 65, __
7 n 7
@). 72 . (2) 172
(3) 170 (3) 170
(4 69 (4) 69
(5) I A& & 9TEd (6) Not attempted
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